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Quiz 9B – A. Marshall – Regression and ANOVA


You are provided the following regression output with 13 cells, labeled A though M, blanked out.  You are also provided with a small table of summary statistics with two cells, labeled N and O, blanked out.  

You are to fill in the blanks.  

Note:
The blanks cannot be filled in in the order implied by the alphabetic labels.  
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Regression Statistics

Multiple R

A

R Square

0.208688126

STDEV(x)

11.92752809

Standard Error

B

Variance(y)

N

Observations

50

STDEV(y)

O

ANOVA

df

SS

MS

F

Significance F

Regression

C

F

H

J

K

Residual

D

G

I

Total

E

4986661.753

Coefficients

Standard Error

t Stat

P-value

Intercept

-127.539017

Not Relevant

Not Relevant

Not Relevant

X Variable 1

12.21814673

L

M

0.00085


